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B K+, 'L = B. Prove that least cost input ratio is KI/L = aP, /BBy,
Q>0 Qz0, Q,.:o
I Essay Questions. Answer any t

(5 x 2 = 10 weightage)

17 Explain price diserimination under monopoly.
18  Explain the uses of derivaives in Beonomie
19 Solve LPP graphically : :
Meximize & = 40x; + 50z, e
subject to 2%, + 6, < 36
B+ 8ry < %0
8+ 2, < 40
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(2 x 4 = 8 weightage)
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SIXTH SEMESTER B.A. DEGREE (UG-CCSS) EXAMINATION, APRIL 2016

(SDE)
Economics
EC 6B 11—MATHEMATICAL ECONOMICS
(2018 Admissions)

Time : Two Hours and Forty-five Minutes Maximum : 27 Weightage

1. Short Answer Type Questions. Answer all nine questions. Each question carries a weightage
of 1:

PartB

1 Define income elasticity.

2 Explain linear homogeneous functions. /

3 Explain average revenue and marginal revenue functions.
4 Explain MPC and MPS.
5 Distinguish between Pure and Perfect competition.
6 Explain increase and decrease in demand.
7 Define point elasticity.
8 Explain Engel curve.
9 Whatis shut down point ?
(9 1= 9 weightage)

of2:

10 Explain the concept of equilibrium.

11 Caleulate price elasticity of demand when a rise in price from Rs. 10/unit to Rs. 12/unit of a
product lowers the demand from 1000 to 800 units in a local store, <

12 Maximize the profit of firm given TR = 4000 Q ~ 33 Q? and TC = 2. Q% — 3 Q2 + 400 Q + 5000, © 22

18 Find MR function for the demand function @, = 4 ~ €7 ~Q = 0 and evaluateat @ =
Q= TR = Na- susad , wR - lsoesa@

14 Derive the relationship between MR, AR and Elasticity.

15 Minimize costs for a fanction with the cost function C = 5+ + 2xy + 3y + 800 subject to the
pdichn quoie +y =W e S

“
A
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- Define linear homogenous production function.

3 B C 80189

. Distinguish between correlation and regression.

L 9% 19 weightage)

Part C (Short Essay or Paragraph Questions)
Answer any five out of seven.

Explain the lagrange multiplier method. &

State the relationship between average revenue and marginal revenue; 0k

How do you solve a linear programming problem ? .

How do you measure income elasticity of demand ? Classify goods by this measure.

. Given the demand function ¢ = 71 - 0.5p and the cost function ¢ = 2000 + 10g, find the monopoly

profitandprice. P2 ¢, 9:35, i 51948

. How do you test the significance of regression cocfficients.
. Explain the OLS method of estimating oft ion model.
(5% 2= 10 weightage)
Part D (Essay Questions)
Anawer any two out of three.
. Maximise the utility function U = 4y + 3y subject to the constraint 2+ 6y = 60. 1163
2512
. Discuss the properties of Cobb-Douglas production function. j ; t
v lor
Explain the equilibrium under discriminating monopoly. Cosy

(2 x 4 = 8 weightage)
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Graphical solution of LPP is adequate when the number of variables is :

(a) Three. /
(e) Two.
Sample mean is called :

(a) Parameter.
(¢) Estimator.

. The data at a point of time is called :

(a) Time series.
(¢) Pooled.

(@) x

© +1.

Linear dependence between the successive values of the error term in
(®) Autocorrelation.
(@) Heteroscedasticity:

(a) Multicollinearity.
(¢) Random error.

. test is used when the sample s :

(a) Large. /
(c) Small.

(b) Twoor three.

(@) All the above.

(b) Panel. /

(@) Cross-section.

Mean of the error term in the econometric model is :

(@ Both small and large.

(12 x % = 3 weightage)

Part B (Short Answer Type Questions)

Answer all questions.
. Explain demand and supply functions.

Define Linear Programming.
Define Engel function.
What is # test ?

. Distinguish between MRS and MRTS.

Define Econometrics,
Define Panel data,

E dc beabde
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SIXTH SEMESTER B.A. DEGREE EXAMINATION, MARCH/APRIL 2015
(U.6.—CCS8)
Core Course—Economics
EC 6B 11—MATHEMATICAL ECONOMICS AND ECONOMETRICS
‘Time : Three Hours Maximum : 30 Weightage

Answers may be written either in English or in Malayalam.
Use a simple Calculator is permitted.

Part A
Answer all the questions from 1-12.
1. MRSxy s given by the slope of :

(2) PPC. (b) Tndifference curve. s
(© Costcurve. @ Tsoquant.
2. The value of correlation coefficient lies in between :
(a) Otol. () -1to0.
(© -l<r<+l (@ o.
3. In monopoly, MR is /
(2) Below AR. ®) =
() Above AR. @ Constant.
4. Marshal's utility function is :
(@ Ordinal. : (b) Cardinal.
s @ None.
5. shut de point is poil
(b) P=ATC.
@ P=AVC.
6. Linear homogenous production function generates :
»l'm Increasing returns. (b) Decreasing returns.
© G @

Turn over
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Essay Questions.
Answer any two questions.
Each question carrics a weightage of 4.
Discuss the properties of Cobb-Douglas produttion function.
Maximise the utility function U = 2y subject to the constraint 2z + 5y
Explain the equilibrium under discriminating monopoly.

C 80344

100.

(2 4= 8 weightage)
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SIXTH SEMESTER B.A. DEGREE (UG-CCSS) EXAMINATION
MARCH/APRIL 2015

(SDE)
Core Course—Economics
EC 6B 11— AL ECONOMICS AND ECC RIC!
Time : Two Hours and Forty-five Minutes Maximum : 27 Weightage
PartB
Short Answer Type Questions.

Answer all nine questions.
Each question carries a weightage of 1
Distinguish between MRS and MRTS. =
Define feasible solution of LPP.
Define Engel function.
Define £ test.
‘What is coefficient of determination ?
Explain demand and supply functions.
What is Mathematical economics ?
Define panel data.
Distinguish between Correlation and Regression.

P

(9 1=9 weightage)
Short essay or Paragraph Questions. x

Answer any five questions.
Each question carries a weightage of 2.

g

Explain the Lagrange multiplier method.
State the relationship between Average cost and Marginal cost.
. Explain the solution of linear programming with an example.
How do you measure income elasticity of demand ? Classify goods by this measure.
Given the demand function g = 71-0.5 p and the cost function ¢ = 2000 + 10g. find the monopoly
profit and price. =
How do you test the significance of regression coefficients ?
Explain the OLS method of estimating parameters of linear regression model.
(5 x 2 = 10 weightage)

8 EE

5 &

Turn over

-




image14.jpeg
Part D (Essay Questions)

Answer any two questions out of three.
Each questions carries 4 weightage.

29. Given the demand function in terms of three prices and income as Q =B "8 B3 pot you,
define and find own price, cross price and income elasticity of demand and interprot the result.
30. State any Four properties of Cobb-Douglas production function,
31 Explain the method of Ordinary Least Squares estimation.
(2% 4 = 8 weightage)
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12. Output elasticity is the ratio of

(a) Average Product to Marginal Product.

() Marginal Product to Average Product.

(©) Average Product to Total Product.

(@ Marginal Product to Total Product.

(12 % % = 8 weightage)
Part B (Short Answer Type Questions)

Answer all questions.
Each question carries 1 weightoge.

13. Define a utility function.

14. How do you derive marginal revenue fanction from demand function ?

15. What are the ical conditions imising profit function ?
16. Define Marginal propensity to save mathematically.

17.. Define Cross elasticity of demand.

18. What is slack variable in linear programming ?

19, State the conditions for a function to attain maximum value.

S

Distinguish between Utility function and Iso-utility fanction.
. What is Engel function ?

(9 x 1=9 weightage)
Part C (Short Essay/Paragraph Type Questions)
Answer any five questions out of seven.
Each question carries 2 weightage.
. Given the demand function Q = 8P deri

8

Establish the relationship between marginal and average cost curves using the total cost curve.
24. Show that the function Q = X¥4 Y¥¢ s linear homogeneous.

25. Explain the different types of data used in econometric una.lysls

26. properties of ion model 7

27. Distinguish between Population and Sample.
28. Explain the different types of discriminating monopoly.

(5% 2 = 10 weightage)

Turn over
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. When the indifference curve is given by thé function U®=X%* Y%S the Marginal rate of
substitution between labour for capital (MRSyy) is given by :

X X
@ 0673 ® 0673

¥ 18
© 087% @ -067%.

‘Which of the following is not a property of Classical Regression Estimate :

(a) Unbiasedness. (b) Efficiency.
(©) Sufficiency. (@ Non-linearity.
The production function U = XY is homogeneous of degree :
(a) One. (b) Two. "
(e) More than one. (d) Less than one.
‘Which of the ket the dition of no i i o
(@) Oligopoly. (b) Monopoly.
(© Duopoly. (@) Perfect competition.
Asolution in ich satisfies all the ints s called :
a) Optimal solution. (b) Finite solution.
(c) Feasible solution. (d) Infinite solution.

When the investment multiplier coefficient is 4 the possible value of marginal propensity to
consumeis :

@ % () 075,
(e} 0.25 @ 4.
Cross section data is related to data relating to
(a) Period of time. (b) Point in time.
(c) Neither () nor (b) . (d) Either (a) or (b).
. One of th regression is :

(a) Maximum likelihood method. (b) Two stage Least Squares method.
(6) Bayesian method. (@ Ordinary Least Square method.
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Reg. N
SIXTH SEMESTER B.A. DEGREE EXAMINATION, MARCH 2014
(U.G.—CCsS)
Economics
EC 6B 11—MATHEMATICAL ECONOMICS AND ECONOMETRICS
‘Time : Three Hours Maximumm : 30 Weightage
Answers may be written either in English or in Malayalam.

Part A
all questions.

nd i weightage.
1. IfC=(Y) is the consumption function then its slope varies between :

dc dac

<Ly -
@ 03 o 0=5<
© 0<%<x. @ 0<§<m.

2. When Q=/(X)is the production function, diminishing marginal returns is implied by:

2Q &q
@ 0 (b) ="
2 &
© %zm @ K?d)'
8 When the domand for a good is given by q = 200 0.08 p the price elastisity of demand is
given by :
0052, 0052,
@ q ®) -
0052, 005L,
© 7 @ =2

Turn over
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24. Show that the marginal cost curve cuts from below at the minimum point on the
‘average cost curve.

25. What the different data types used in economeric analysis? Explain.

26. What are the different interpretations given to the stochastic disturbance term in a
regression equation?

27. Distinguish between statistic and parameter,
28. State the conditions of constrained utility maximisation. .
(5%2 =10 Weightage)
Part D Essay Questions
Answer any two questions out of three

29.Given the demand function in terms of three prices and income as
01 =-0.5P, +025P, +0.2P; +0.1F , define and find own price, cross price and
income elasticity of demand and interpret the result.

30. State any -properti 'Cobb- tion function.

31. Given the estimated consumption function as C :(150 oSt 72 =0.80,where

the numbers in parentheses are the't values and r? is the coefficient ofdeterlmmucn,
interpret the significance of the fit.

(2x4=8 Weighiage)
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8. Linear programming is a mathematical method of:

&) Optimisation b) Maximisation
©) Minimisation * d)Finding the inflexional value

9. Given the saving function § = ~200.+0257 the multiplier coeffcient s given by:
% 075 35 a4

10, Time series data s related to data arranged for:
dPeriodoftime  b)Pointintime o) Neither ) norb) W)

11. Ordinary Least Square method of regression is:
) Bayesian method \byClassical method
o) Single Bquation method d) System method
12, Cost elasticity is the ratio of :
a) Average Cost toMarginal Cost ,_byMarginal Cost to Average Cost
) Average Cost to Total Cost d)Marginal Cost to Total Cost

Part B (Short Answer type Questions)
Answer all questions

13. Define a function
14, How do you distinguish betvendeand ndsply s
15, Explainhow o8t Finétion
16. Define marginal cost mathematicaly.
17, Define income clasticity of demand,
18. What s linear programming?
19. State the conditions for a function to attain maximum value.
20. Distinguish between long run and short run prodstion fanction.
21, What s population? (©Ox1=9 Weightage)

Part C (Short Essay/Paragraph type Questions)

Answer any five questions ot of seven.

22. Given the ‘consumption function C =500+ 0.8 derive the uvmg fundion in a two
sector model.

23. Explain the significance of point of inflection in the total product curve.
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SIXTH B.A. DEGREE DN, MARCH 2013
(ccss)
EC 6B 11—MATHEMATICAL ECONOMICS AND ECONOMETRICS
Time : Throe Hours Maximum Weightage : 30

Answers may be written either in English or in Malayalam

PartA
Answer all questions

1. 160= f(P)is the supply functlon then ts slop i given by:

L 49 aQ L

== L0 =20 —=>0 2 d)
st . el T o=
2. WhenU = f(X)is the utility function, diminishing marginal utility is implied by:

iy &y U
\b/dX_z 50 af 520 DU

3. When the demand for & good is given by ¢'=10=0.05pthe price elasticity of
demand is given by: c

Ao b)-005L 90052 ) 0.0sL
q P q b

4. When the isoquant s given by the function 0 = K%1102 the Marginal rate of
Technical substitution between labour for capital (MRTS 1 Jis given by:

X K L L

67— -0.67— 0.67— d) -0.67—

2067 b) = \})/6 — ) 067
5. The stochastic term in a regression model does not stand for:

4) Omitted variables b) Functional form misspecification

./ Frobable actors ot included i the model ) Standerd error
6. Theutility fanction U = X%3¥%2 is homogencous of degree:

2)0ne Lessthanone  o)Morethanone d) Zero

7. Amarket i in stable equilibrium when the slopes of the demand and supply curves
are respectively:
&) Positive and Negative b) Negative and Positive al d) Zero

Turn over
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19 Establish the relationship betw i ity t nsity
we in & two sector model.

20 Distinguish between linear and non-linear homogeneous production function.
21 Define poly. When is price on possible and profitable ?
(9% 1= 9 Weightage)

Part C (Short Essay/Paragraph Type Questions)
Answer any five questions.

22 Given the demand function pg = k, where p and g are price and quantity and k is a constant,
the price elasticity coefficient.

23 Show that cost elasticity is related to average and marginal cost.
24 Distinguish between Fixed proportion and Variable proportion production function.

25 Given the demand curve under monopoly P = o - PQ verify that the marginal revenue falls
twice as fast as the average revenue when output increases.

26 Discuss the vari f data used in " 1
27 What are the assumptions Classical Linear Regression Model ? Explain.

(5 x 2 = 10 weightage)
Part D (Essay Questions)
Answer any two questions out of three.

29 Given the production function Q =/ (K, L) and the isocost line C0= p,K + p,L, where p, and p;
are prices of K and L, find the equilibrium condition for maximising output.

80 Explain the properties of Cobb-Douglas production function.
31 'Show that the BLU estimators of a regression model have minimum variance.
(2 4=8 weightage)
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Which of the following is not; true of 1 solution of problom
(@) Corner solution. (b) Feasible solution.
(© Vertex solution. (@ Tangeney solution.
In the classical Linear Regression model, ¥ = a+ BX + u, the variance of u, Var (u) is :
@ Zero. @) Constant. .
© 1 @ wu?
When the demand curve of a monopolist;is P = a — bQ the total revenue function is given by :
(a) a-bQ2% (®) *aQ-bQ%
(© aQ-bQ, @ aQ+bQ%

n the Classical Linear Regression model, Y = a + X + u, then which of the variables is
independent and identically distributed (id) ?

(2) None. ® X
© Y. @ u g
The Cobb. KandL, givenby Y = 10K*1L8 indicates

the operation of :
(a) Increasing marginal product. (b) Constant returns to scale.
(9 Diminishing returns to scale./ (d) Increasing returns to scale.

2 is a measure
(2) Explanatory power. (®) Direction.
() Dependence. @ Signiricance.
The probability of not committing type IT error is called :
(@) Type Lerror. () Level of significance.
(© Power of test. (@ Critical value.
(12 % % = 3 weightage)
Part B (Short Answer Type Questions)
Answer all questions.
‘What do you mean by an unbiased estimate ?
Explain random variable.
Explain the meaning of specification error.
Distinguish between Time series data and Cross-section data.
Define elasticity given the function y = f(0).
Define marginal rate of technical substitution.
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SIXTH SEMESTER B.A. DEGREE EXAMINATION, MARCH 2012
(CCss)
g Economics—Core Course
EC6B11—MATHEMATICAL ECONOMICS AND ECONOMETRICS
Time : Three Hours . Maximum : 30 Weightage

Answers may be written either in English or in Malayalam.
Part A

Answer all questions.
Each question carries % weightage.

A. 1 IfQ={(P) is the demand curve for normal good then :

aQ_ dQ
@ R-o / ® H>0
df
e %‘“' @ G20

luction function Q = aK*L, where K and L are capital and labour inputs, the
‘parameter a stands for :
() Marginal product. / (b) - Average product.
(9) Output elasticity of capital. ~ (d) Output elasticity of labour.
3 If the saving functions, S = a + BY, where Y is the disposable income, the expression for

investment multiplier is :

1

@ B. ® "5 =

G
© 1 @ 1-.
4 Given the marginal cost at 10 and average cost 5 the elasticity of cost is :
1
@ 3 ®) 5.
© *2. (d) 50.

B. 5 The isoutility curve is given by U® = xy, where x and y are two goods the marginal rate of
substitution of x for y is :

@ 3 ® %

€
<@ln

Turn over .
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#  Ssomon C (Short Answer Type Questions )
Answer any two quesiions out of three.

17. Define s ing. Explain solving a linez ing pr
18, Bxplain briefly th ions of Ordinary L ethod.
1. State and explain any five properties of Cobb-Douglas production function.
(2 x 4 = 8 weightage)
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SIXTH SEMESTER B.A. DEGREE (UG-CCSS) EXAMINATION
’RIL 2016

(SDE)
‘Economics
EC 6B 11 - MATHEMATICAL ECONOMICS AND ECONOMETRICS
(2011 and 2012 admissions)
‘Time : Two Hours and Forty-five Minutes Maximurm : 27 Weightage
PartB
Answers may be written either in English or in Malayalam.
Secrion A (Short Answer Type Questions)
Answer all questions. i
Define any function used in economic theory.
How is marginal product related to average product in Cobb-Douglas production function?
Define cross elasticity.
Define static equilibrium.
‘What is monopo;
What is panel data?
‘What is random term?
Define coefficient of determination.
‘What is type I error?

EE IS

(9% 1= 9 weightage)
Secrion B (Short Essay or Paragraph Type Questions )
Answer any five questions out of seven.
10. Given the constraint C=r, X, + ¥y whore r and X sespectvely stan fo th nputpricesand
input quantity, explain the constra

Given the Savings function, § = —a + bY interpret the parameters.
. Explain the concept of Maximization
Distinguish between fixed proportion and variable proportion production function.
. How is firm's equilibrium determined under perfect competition? Explain.
. Write a note on sample and population regression model.

What is #-test? Explain.

EEEERE

(5% 2= 10 weightage)
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